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Question 5
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The magnitude of the induced current in a stationary conducting (secondary) loop:
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a. Depends only on the magnitude of the flux cutting the loop.

b. is zero when the magnetic field at the position of the loop is zero.
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c. Depends on the rate of change of the magnetic flux cutting the loop and the resistance of the loop.

d. Depends only on the magnitude of the magnetic field at the position of the loop.

e. Depends on the area of the primary loop and the rate of change of magnetic flux cutting the secondary

loop.
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